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03 Al & 12HI 10,000 8,000 2,000
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101 @144 dl 60,000 50,280 9,720
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04 JI2ZtH 22 XNHEE =+ 60,000 50,280 9,720
OLEQL 54,750
ogwdRdg=UulEg=) 5,250
201 Bt A | 2,000 2,000 0
01 At 22l Yl 2,000 2,000 0
OUHEZ AZE S 28 FL(108) 1,000
OAH2 2=2ldl(58) 500
OFHI Rt 500
202 04| 9,600 9,600 0
01 2LHOHI 9,600 9,600 0
Otz MHJI&Es o3P 9,600
207 A 2 OH 4| 10,000 10,000 0
03 Al& o 2| 10,000 10,000 0
OZX, HZ, 5%, sXM(148) 7,000
OAS & =XII2(108) 3,000
AHEH AMES 2 MM L B2 50,000 62,920 A 12,920
101 2124 d| 40,000 54,420 AN 14,420
04 JI2ZtH22XNHEE =+ 40,000 54,420 AN 14,420
(OFE=PSgelR=) 36,500
HESHZ2UUEEZ) 3,500
207 A IR ] 10,000 8,500 1,500
03 A& b 10,000 8,500 1,500
Ol SR EAE sXM(208) 10,000
AH EYfHEH 4 AZSF AR 33,000 0 33,000
201 LEt2 Y| 2,000 0 2,000
01 AFR2t2l bl 2,000 0 2,000
OANEEHIIIZ AHEE S(108) 1,000
O=28 g oM L ARESE S 1,000
202 04 b 2,000 0 2,000
01 2LHOHI 2,000 0 2,000
OAEAT EEH| 2,000
207 A O 4| 29,000 0 29,000
03 A& 2| 29,000 0 29,000
oHlz, s, sAHM(155) 9,000
I 2 MEE sXH(208) 10,000
OANEEII L JAE 2 10,000
SE2 U AEEZE ZBoF AlE AX 60,000 0 60,000
401 Al HIL 200 60,000 0 60,000
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01 Al&H| 59,500 0 59,500
O Al &H| 59,500
03 A& E2HH]| 500 0 500
O =2yl 500
StEl THHH D= AP 52,600 18,000 34,600
201 Bt 5,600 1,000 4,600
01 At 22l ] 5,600 1,000 4,600
oHEs, AXE 5 25 Y 1,000
OANEZHE(6,001m) Xt 4,600
202 04| 7,000 7,000 0
1 =L 7,000 7,000 0
OBIEI M A7 7,000
207 A IR &b 40,000 10,000 30,000
03 AIE A 32| 40,000 10,000 30,000
OoHlz, s2%(208) 10,000
OTH AlE=2 ME(2E) 20,000
O=Z HIE AR sSANEE 2E(108) 10,000
A SASE MAD|I= e 316,600 232,259 84,341
= 10,000
fag 45,000
& 261,600
SgsFEEd & JESX 25 163,300 97,715 65,585
= 10,000
== 153,300
Eae B HP 53,300 33,237 20,063
201 et A | 11,500 5,200 6,300
01 At 22l bl 11,500 5,200 6,300
O8 X AIEZE Xz 2,000
(CEPINIPNE=] 600
O&AEAH> Xl 3,300
OHJIIZ Xl 4,000
OHXEZ H &l 1,600
202 04d| 10,800 10,440 360
01 2L Y| 10,800 10,440 360
OELEHAANEAR =& 10,800
207 A OH 4| 18,000 17,597 403
03 AlE A 2| 18,000 17,597 403
ODN=% JIA(OI2Z2 ,8E dHA) 5,000
OZEX, HE, =%, sAHM 5,000
OAl & XD 8,000
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sgJ|sd
HeAsM2 MAIIE R
SYaEEd o NASH B o E)
A - HE B9 (3A) - HRAY - BHYS il 2
201 Le-2d| 5,000 0 5,000
01 At 22l 5,000 0 5,000
OXNAIEEZE Xtz 2,000
O H Z Ml &l 1,000
OMERES 2,000
202 o4dl 3,000 0 3,000
01 = LH o4 1l 3,000 0 3,000
OEASIANEAL =X 3,000
207 RO H] 42,000 0 42,000
03 A& & 24l 42,000 0 42,000
O3k, U2, 5%, XM 15,000
OANLE=RIIF 14,500
OE2+=Z dA 12,500
gd sTM= 22MAH A4 153,300 134,544 18,756
s 45,000
< 108,300
=2 gdis gHlls g+ 22,800 20,617 2,183
202 04l 6,800 5,400 1,400
01 = LHA YI 6,800 5,400 1,400
ogelzsdz =2 6,800
207 Ao & H| 16,000 15,217 783
03 Al & 12 Hl 16,000 15,217 783
O3X, Hlg, 5%, =AM 10,000
OgdlE g2 3,000
O=&=EMMZ %L POA & A 3,000
TS Holls A 2 HFE AR 13,500 12,800 700
202 oddl 3,500 3,360 140
01 = LH o4 1l 3,500 3,360 140
odgelzs g = 3,500
207 A RO 10,000 9,440 560
03 A& &2l 10,000 9,440 560
odtoled s MHIE WM E 10,000
HA E5s4 £ DEZE MHidIl=s g 4,000 3,127 873
207 A& | 4,000 3,127 873
03 Al & 1HI 4,000 3,127 873
OAlF & =X+ 4,000
NAESESII SN (LAMHA AIETHEIO 28 2 45,000 45,000 0
SHA =HE)(2F2)
s 45,000
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X ZH -
L= B
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= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
101 14 Hl 21,000 20,700 300
s 21,000
04 JIZHHZ22XREE S 21,000 20,700 300
(CEFSgelis 18,980
s 18,980
OYERE= & 2tAlHl 2,020
s 2,020
201 Let249y] 200 300 A 100
s 200
01 At 224l 200 300 A 100
OMERES 200
as 200
202 044l 1,800 3,000 A 1,200
s 1,800
01 = LH o4 1l 1,800 3,000 A 1,200
OAMZ=T & HR2E2 1,800
s 1,800
207 & 51 OH £ Hl 22,000 21,000 1,000
s 22,000
03 Al & 11HI 22,000 21,000 1,000
OAl, S&, MUK S 22,000
s 22,000
Y SHRS SAHERSE £ 53,000 53,000 0
201 ¢er24| 15,000 15,000 0
01 At 22l 15,000 15,000 0
OZFUXE 10,000
OH Z M &l 2,000
OMERES 3,000
202 oddl 8,000 8,000 0
01 = LH o4 1l 8,000 8,000 0
OME=A & HR2E2 8,000
207 A RO 30,000 30,000 0
EEEE 30,000 30,000 0
OB U2, 5%, 5 X 30,000
ZH HolEs ZH40E L SHE HE 15,000 0 15,000
202 O4dl 3,000 0 3,000
01 = LH 4 Hi 3,000 0 3,000
Ogdizs 2 ol & ZHEF =& 3,000
207 A O] 12,000 0 12,000
03 Al& o1 78| 12,000 0 12,000
O 2 5I|7 8,000




L EET=BIEE
MY AEPSAS MM)E N
E: EE P2 2elMH AR (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | | OAlQF & =X 4.000
DHOE=EH J|=XI& 6,401,727 5,153,930 1,247,797
= 1,789,775
as 3,977,000
< 634,952
sEXNEZOIE &= 4,781,200 3,506,640 1,274,560
= 671,700
s 3,977,000
< 132,500
SolzMEH SEXNE JIBEH(2D) 3,977,000 2,751,000 1,226,000
s 3,977,000
403 MtXISHH S =0l & 3,977,000 2,751,000 1,226,000
s 3,977,000
01 XM A=2E X 3,977,000 2,751,000 1,226,000
oXN&Ellgr=s XA 3,977,000
s 3,977,000
SoolAEA AMNS X 20,000 0 20,000
403 XIS E X201 E 20,000 0 20,000
01 REXISHRIAHE 2 X 20,000 0 20,000
OsgoladAs AIZE XI& 20,000
SEXEANY 8F J=sXs 28 XA (=2)(HY) 7,200 7,000 200
= 3,600
< 3,600
201 £B-2%| 3,600 3,500 100
= 1,800
< 1,800
01 At 22l 3,600 3,500 100
Os=sETEANY 29 3,600
= 1,800
< 1,800
202 oddl 3,600 3,500 100
= 1,800
< 1,800
01 = LH &4 1l 3,600 3,500 100
OsELEANY 255 = 3,600
= 1,800
< 1,800
sEMEMY EF J&XE g5 I (=1) 54,000 54,000 0
= 54,000
308 XtXIEHHSOIA 54,000 54,000 0
= 54,000
01 HXNHHBHELS 54,000 54,000 0
odHdNCEs XNA(18A) 54,000
= 54,000




2M: sgl=d
M DHOEY J=X3
@2 sENE0E &5 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
=AHI|H M WE X (=21D) 127,000 100,000 27,000
= 127,000
308 AXISHXSOoIH 127,000 100,000 27,000
= 127,000
01 AXHNNBMNEXZ 127,000 100,000 27,000
OsJIHEHOZE JlzunsA 127,000
= 127,000
NEE sZIH XN (=212) 183,000 184,640 A 1,640
= 183,000
403 ItXISHNMSA201 & 183,000 184,640 A 1,640
= 183,000
01 "X SHMA2E X 183,000 184,640 A 1,640
OsJIH 23d&d X&(138) 183,000
= 183,000
sgJ|l=dH Hsds ASE 29 XN (=21) 200,000 200,000 0
= 200,000
403 MtXISH M S K201 200,000 200,000 0]
= 200,000
01 XIS A2 X 200,000 200,000 0
OWsIA=s ASAIEE 29 (200A) 200,000
= 200,000
Istds M)les AgdHIES XS (=21) 30,000 10,000 20,000
= 30,000
308 AXISHXSOoIH 30,000 10,000 20,000
= 30,000
01 AXHNBIMNEXZ 30,000 10,000 20,000
OXdls AEdHIEs XN (3MA) 30,000
= 30,000
sl A 25 48,000 59,000 A 11,000
201 et A | 33,000 33,000 0
01 AFR2 22l dl 33,000 33,000 0
OsEXNE 925 AXS 7,000
Os=NTAEII2HE, EOM M 12,000
Os=dEANY 82103 14,000
202 04| 10,000 21,000 A 11,000
01 2LHOHI 10,000 10,000 0
OsENEZAIE =& 10,000
206 T2 HI 2,000 2,000 0
01 X2 bl 2,000 2,000 0
OLJA=s=T=EMNY SUE03 dMIl=ME 2,000
301 YU B A 3,000 3,000 0




A s8Il
Hu: DMOES 2N
©?el sENCIIE =2E (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
09 EANEHIESS 3,000 3,000 0
OLd SEUSMY dU203 29 3,000
A=Y 243 IA(22)(HY) 87,000 81,000 6,000
= 26,100
= 60,900
201 Yot Y| 67,000 59,700 7,300
= 20, 100
= 46,900
01 AtR 2t 2l | 18,800 25,000 26,200
OF=HFHUH 88 & FHus T 18,800
= 5,640
= 13,160
02 S3=29Hl 200 200 0
Cus=2d RE= 200
= 60
= 140
03 A2 S HI 48,000 34,500 13,500
o7=s¥YUs 29 48,000
= 14,400
S 33,600
202 O 4 8,000 8,300 A 300
= 2,400
& 5,600
01 SLHOYI 8,000 8,300 A 300
OFs&EY g2 =4 8,000
= 2,400
= 5,600
301 LetE o= 12,000 13,000 A 1,000
= 3,600
= 8,400
09 AMAHIEAS 12,000 13,000 A 1,000
o=s¥YgUs 29 12,000
= 3,600
< 8,400
H=s&d 243 XN (F12) 48,000 60,000 212,000
= 48,000
308 Xt &M SO0IE 48,000 60,000 212,000
= 48,000
01 AXHHBAEES 48,000 60,000 212,000
OAHsHLXZ 48,000
= 48,000
s dFJls u=s 1,002,705 1,031,418 N28,713
= 923,375
= 79,330
sgJIgdH sl d20s I (22) 203,000 156,500 46,500




2N seI=E
HMa: QM= JA
€ =g d2JI=s U= (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 203,000
308 XXM SO A 203,000 156,500 46,500
= 203,000
01 HIXNHHBNEES 203,000 156,500 46,500
O=glles d2u= 203,000
= 203,000
sHoUs(AZHE)2Y XA (=21) 198,000 233,000 235,000
= 198,000
308 XXIEHH SOl A 198,000 233,000 A 35,000
= 198,000
01 IXNSHHBANEES 198,000 233,000 A 35,000
Oosgeoltis 24 198,000
= 198,000
dARsgo(HsAHE) EsJIxJI2us NA(2D) 122,500 143,800 221,300
= 122,500
308 XX EHHSOIA 122,500 143,800 221,300
= 122,500
01 AXSHBLELS 122,500 143,800 A 21,300
OtlA=gel JIxzg8=s)Isus 122,500
= 122,500
MAsgo(AsHE) 85I SEASUE XA 240,000 264,000 A 24,000
22)
= 240,000
308 XX EHH SOl A 240,000 264,000 224,000
= 240,000
01 HXNHHNBHELS 240,000 264,000 A 24,000
Odln=sgo EHEAMSLSE 240,000
= 240,000
NEESR3 d2sy &d 25,000 25,000 0
201 L2l 25,000 25,000 0
01 AR 228l 25,000 25,000 0
O=sgous dEZA dEu=E 25,000
sdl)l=d N2 deszdas X (2F2)(A 108,660 115,036 NB,376
&)
= 54,330
< 54,330
201 Let249] 15,000 17,000 A 2,000
= 7,500
< 7,500
03 A2 S HI 15,000 17,000 A 2,000
OXN&Ede 2AsE et x2Sy A& 15,000
= 7,500
= 7,500




2N slsd
Mo DAGEH I SN
€ =g d2JI=s U= EEREEED)
= _ = d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 01t 93,660 98,036 N 4,376
= 46,830
= 46,830
01 20t 79,260 84,336 ~5,076
OF - ©JINg L NSNEH73 B85 X 79,260
=2 39,630
< 39,630
04 =504 Hl 14,400 13,700 700
ONEBRH sz oo 14,400
=2 7,200
= 7,200
SYISHE NEZPY M2SBAN(2D) 105,545 94,082 11,463
= 105,545
308 XX EHAIS 0| & 105,545 94,082 11,463
= 105,545
01 HXSHEAEES 105,545 94,082 11,463
ONEBRY A3 X 105,545
= 105,545
SYOICHH 2235 X 570,322 570,872 A 550
=2 194,700
= 375,622
S0l SETA NS N (2)(HE) 47,600 59,600 A 12,000
=2 23,800
= 23,800
201 et | 4,000 10,000 6,000
= 2,000
= 2,000
03 8 A2 2 H 4,000 9,000 5,000
O4-HEH s =& 4,000
= 2,000
= 2,000
202 01t 2,000 4,000 £2,000
= 1,000
= 1,000
01 2LH ot 2,000 4,000 £2,000
O4-HEH DS F& 2,000
=2 1,000
= 1,000
301 LerE A3 15,600 13,600 2,000
= 7,800
= 7,800
09 BALAHI 242 15,600 13,600 2,000
O4H, SENCK YEDS 24 15,600
= 7,800
= 7,800
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307 QI2t0| & 26,000 32,000 A 6,000
= 13,000
= 13,000
02 B AMAEE X 26,000 32,000 A 6,000
OZ4HES 2YX 26,000
= 13,000
o= 13,000
=0l StSHN WERYE IK(=21D) 14,400 14,400 0
= 14,400
308 XX SHAMSO0IA 14,400 14,400 0
= 14,400
01 HXHHIMNEXS 14,400 14,400 0
OssXNEX dHd= 14,400
= 14,400
4-H3l =4 171,650 142,400 29,250
201 Bt A H| 10,000 10,000 0
01 AP 2t2l bl 10,000 10,000 0
O=sdZddUI £ NN &4 8,000
O4-HESXZAM 285 XN 2,000
202 044 6,000 6,000 0
01 2LHOHI 6,000 6,000 0
OSIEEH nNsHA F&A 6,000
206 M = Hl 2,000 2,000 0
01 X2 bl 2,000 2,000 0
O4-H HNE M= 2,000
307 QI2t01 ™ 20,000 9,000 11,000
02 AI2HAAMAIEE =X 20,000 9,000 11,000
OLJE4-HOE W= 20,000
308 XX SHAHSOIH 133,650 65,400 68,250
01 AXHNBINMNEXZ 133,650 65,400 68,250
OstW4-HIMES ASEXA 11,250
OFUY4-H3I R Jxg=sX& 108,000
O4-H3 & sSHE 2K 2SAE 14,400
E2Y S0 A2y S4(210)(2F) 8,000 12,000 A 4,000
= 4,000
= 4,000
201 LBt A H| 5,000 7,000 A 2,000
= 2,500
& 2,500
01 At 22l bl 5,000 7,000 A 2,000
OE=2Y S AR 2H(74El) 5,000
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2N
X ZH -
L= B

el

sz
nAHor=EY J=XE
SEASH 253 X2

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OOl 32 AIE&EH KX 8,000
307 QI2t0| ™ 10,000 10,000 0
05 QIZtRES 10,000 10,000 0
O=sgooH 29 435 10,000
401 AIEHIZ 201 Y| 30,000 70,000 A 40,000
01 Al&H| 30,000 70,000 A 40,000
ORI E 2 &S A 30,000
S2Esgodad g4 19,500 19,500 0
201 LBt 9H]| 11,500 11,500 0
01 AP 22| H| 11,500 11,500 0
Os=sgARE sHE2XN 2= 8,500
O=sgdolHARg WA, XX 3,000
301 et A= 8,000 8,000 0
09 HAIAHI EAZ 8,000 8,000 0
OsgoldARs &L S A&8H=s dX O =
& 8,000
SEXNEANY EE 47,500 45,000 2,500
sl EE 47,500 15,000 32,500
201 et d9d| 40,000 10,000 30,000
01 AR 22l ] 40,000 10,000 30,000
OsYII=EEE AMEQE, ZHESL S 8,000
OsZEdsE 8383 HE 2,000
OsZ=dEANY E2XNEE H & 30,000
202 o4 | 7,500 5,000 2,500
01 2L HI 7,500 5,000 2,500
Osglls EEAY F4A 7,500
HEON U HESG J=XL 9,995,300 10,001,903 AN 6,603
= 5,963,350
= 2,950,000
J| 1,850
& 1,080, 100
ASEH CHAEG J=E2 7,210,500 7,030,930 179,570
= 4,317,500
g 2,650,000
= 243,000
= AMIls A" (=2D) 4,008,500 4,240,000 A 231,500
= 4,008,500
403 XX SHHS K20 & 4,008,500 4,240,000 A 231,500
= 4,008,500
01 AIXISHHMAZ2E X 4,008,500 4,240,000 A 231,500
O=gY Aldlz= AMB(18A2) 4,008,500




2N seI=E
g 3FoE & 3 Jl=XE
& HSEF AT =22 (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| = 4,008,500
Zgd 22 Jls 243,000 185,930 57,070
201 €2l 15,000 15,000 0
01 At 22/l 13,000 13,000 0
CdlI=23 AMHAIY F& 13,000
02 2324l 2,000 2,000 0
OMII&=E23 AHAY FX 2ESYS 2,000
202 04l 6,000 5,930 70
01 = LHA YI 6,000 5,930 70
OZgHl 22 Jl=X& 6,000
403 XM S =0l & 222,000 165,000 57,000
01 XM A2E X 222,000 165,000 57,000
O=Rels NHSE QLEZA &I SHAIY 75,000
ONEZ E3&=2 JlHg RELAS AIY 60,000
OXNMEE ZAE=Z2 IHIIX 433 AlEY 60,000
OIfT2E I+ R+ £ LHASE AlE 27,000
AN g=5ds &5 I d(=2) 2,650,000 2,500,000 150,000
s 2,650,000
403 A X EHHSH=20IA 2,650,000 2,500,000 150,000
s 2,650,000
01 X HMA=ZLE L 2,650,000 2,500,000 150,000
OXlS &g &5 JIHEM (18AI2) 2,650,000
s 2,650,000
ANESsIEAMARS(2) 309,000 105,000 204,000
= 309,000
403 MtXSHHSA=0l& 309,000 105,000 204,000
= 309,000
01 X SHMA2E X 309,000 105,000 204,000
OACLEG SKENMATRS 309,000
= 309,000
ASHS FESY JzES 511,500 623,923 A 112,423
s 300,000
< 211,500
dMEsRE 84 Il 211,500 263,923 A52,423
201 LBt 15,000 15,000 0
01 At 22l 15,000 15,000 0
oudeA=Z |4 J=XE 15,000
202 4l 6,000 5,923 77
01 = LH YI 6,000 5,923 7
oudsx=zs |4 BEII=XNE 6,000
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CHelr ASHS BRSA 223 CEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
403 UHXSHHSA=0l& 190,500 243,000 A52,500
01 X SHMA2E X 190,500 243,000 A 52,500
O©JIs4d MOts MBERX =4 63,000
OOtA It HA MAERX D] X4 75,000
OZ&d EZCeH RSIIE =0 AlY 30,000
ol SE UES HA NGHES HEHAIS 22,500
NEES 228 E2(=21) 300,000 0 300,000
s 300,000
403 Mt S E X201 & 300,000 0 300,000
s 300,000
01 X EHHMA=E L 300,000 0 300,000
OXNYEs 2 BZES(6AZ) 300,000
s 300,000
g=s &Iz XJ| 483 2,273,300 2,347,050 AT3,750
= 1,645,850
Jl| 1,850
< 625,600
sdll=d ZEEHA 22 N (F2)(HEY) 30,000 40,000 A 10,000
= 5,000
< 15,000
201 £B-2d| 20,000 22,000 A 2,000
2 10,000
< 10,000
01 At 22/l 20,000 22,000 A 2,000
OEZZEE S Wed=s8HI=X& 20,000
= 10,000
< 10,000
202 odl 10,000 18,000 A 8,000
= 5,000
< 5,000
01 = LH o4 1l 10,000 18,000 A8,000
OELZE S WSI=8TI=sXE 10,000
= 5,000
< 5,000
sgJlsdH sS4 22 NE(21) 209,000 296,600 A 87,600
= 209,000
308 XX EHHSOIA 209,000 206,600 2,400
= 209,000
01 HXNHHBHELS 209,000 206,600 2,400
O=gllsdyH =44 22 XA (16A2) 209,000
= 209,000
SHE HNMEAAM 2H(=31) 250,000 0 250,000
= 250,000
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403 UHXSHHSA=0l& 250,000 0 250,000
= 250,000

01 HXHMA=LE X 250,000 0 250,000
Osdts dEEHY 2 250,000
= 250,000

sHSddis MU NE(=212) 594,000 517,000 77,000
= 594,000

308 XXM SO A 594,000 517,000 77,000
= 594,000

01 IXNSHHBMNEES 594,000 517,000 77,000
OsHsgds LM X2 (18AI2) 594,000
= 594,000

sHZYEs 222 29 A (=21) 32,850 32,850 0
= 32,850

308 XtXIEHHSOIA 32,850 32,850 0
= 32,850

01 X HHILEES 32,850 32,850 0
OsXsdYdls 22X 29 XN (16AI2) 32,850
= 32,850

sHSYE At 2 NJA(22)(HFF) 18,000 18,000 0
= 9,000
< 9,000

201 L2l 9,000 9,000 0
= 4,500
< 4,500

01 At 22l 9,000 9,000 0
Ogdizs HZEYH E ALY X 9,000
= 4,500
< 4,500

202 odl 9,000 9,000 0
= 4,500
< 4,500

01 SLHOYI 9,000 9,000 0
Ogdis HEYH AE X 9,000
= 4,500
S 4,500

sASYlE Jda 2 XNB(22) 121,000 121,000 0
= 121,000

308 MtXIEHSOIH 121,000 121,000 0
= 121,000

01 HXNHHNBHELS 121,000 121,000 0
OsXs8Ydis Aca 29 XA (14Al2) 121,000
= 121,000

TAE B2 XNA(=21) 3,700 3,700 0
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201 LBt 9| 1,000 1,700 AT700
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01 AP 22| H| 1,000 1,700 A 700
OZANE SEAA AH| 1,000
J| 500
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202 044l 2,000 2,000 0
J| 1,000
=} 1,000
01 2L Y| 2,000 2,000 0
OXAE BEZA AIZTF 2,000
J| 1,000
& 1,000
405 XHAHFE S HI 700 0 700
J| 350
= 350
01 XAt 2 ZF S| 700 0 700
OXAE ANE2HFZE &< 700
J| 350
=} 350
A& W= XH 552,750 210,900 341,850
201 et d| 21,000 21,000 0
01 AP 2t 2] d| 3,000 3,000 0
OS&EI=XNE AIY =& 3,000
02 224 H| 4,000 4,000 0
OHAEEY , MoHXE S X224 4,000
03 A2 A H| 14,000 14,000 0
o sgHed 24 14,000
202 044l 6,000 6,000 0
01 2L I 6,000 6,000 0
OY=sslZ RO I=XH 6,000
301 ety A= 3,000 3,000 0
09 SHAIAHI B A2 3,000 3,000 0
OseHALE =& 3,000
308 MXISHMSOIA 348,750 159,900 188,850
01 HXHHIMNEEXTZ 348,750 159,900 188,850
OH 225 3212 ANHIA 101,250
OZYHMNE St X ESESEUHEMAH 2= 67,500
O=s&Z2 gals oz U4 29 A& 180,000
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403 UHXSHHSA=0l& 174,000 21,000 153,000
01 X SHMA2E X 174,000 21,000 153,000
O=g S NEMA: 2EMHY JIs 90,000
Ol JI=H3 S WMo S&2 45,000
OREZ0IM= 018 ¢ BRHE &
A 30,000
O2Aclolls sE2LYH IZIIEX LHI= MY 9,000
25 B4 NA(21) 308,000 333,000 A 25,000
= 308,000
308 XXM SO0 A 308,000 333,000 A 25,000
= 308,000
01 IXNHHNBNEES 308,000 333,000 A 25,000
OZir=s S48 XNA(1BAZ) 308,000
= 308,000
A5 A2 L EHO XA (=22)(HEY) 34,000 34,000 0
= 17,000
< 17,000
201 et 26,000 26,000 0
= 13,000
< 13,000
01 At 2teltl 16,000 16,000 0
OLars Atgatel & ALE 29 16,000
= 8,000
< 8,000
03 A2 Z Hl 10,000 10,000 0
OZAs A2l & 2EE 29 10,000
= 5,000
< 5,000
202 odl 5,000 5,000 0
= 2,500
< 2,500
01 = LH o4 1l 5,000 5,000 0
OZas Atggatel & AL 29 5,000
= 2,500
= 2,500
301 gt d= 3,000 3,000 0
= 1,500
< 1,500
09 HALAHIEAS 3,000 3,000 0
OZars s It 24 3,000
= 1,500
< 1,500
A5 Alg2el 2 I XA(=1) 90,000 90,000 0
= 90,000
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O2Aas AFg2el & "I X3 (18AI2) 90,000
= 90,000
HdeEsItEd3g9=syd 30,000 30,000 0
403 ItXISHXMSA201 A 30,000 30,000 0
01 AIXISHMA2E X 30,000 30,000 0
OdLr=s 23 IGAN 283 XA 30,000
SENJIIXES 4,743,224 3,539,666 1,203,558
= 1,022,500
Fay 2,575,000
= 1,145,724
SEEYGISA 1,609,000 1,252,000 357,000
= 970,000
Fas 460,000
& 179,000
=Y AJls AYE(=2D) 620,000 365,000 255,000
= 620,000
403 ItXISH M S K201 620,000 365,000 255,000
= 620,000
01 AIXISHMA2E X 620,000 365,000 255,000
O=g AIls AY” 620,000
= 620,000
S&E A& 02 4 150,000 150,000 0
403 X SHMS K201 A 150,000 150,000 0
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Os=E2ddd0t2 4 150,000
A2y grEd otMEZ| AFMAIYE(21) 350,000 375,000 A 25,000
= 350,000
403 ItXIHHSA201H 350,000 375,000 A 25,000
= 350,000
01 XX SHMAA2E X 350,000 375,000 A 25,000
OX=YE UEE ot AFAY 350,000
= 350,000
SsEME 2435 X3 29,000 32,000 A 3,000
201 et A | 7,000 7,000 0
01 AFR2t2l Yl 7,000 7,000 0
OME X2 AFY one-stop SHAES X 7,000
202 O B 10,000 10,000 0
01 2L Y] 10,000 10,000 0
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01 IXHHIMNEXTZ 12,000 15,000 A 3,000
Os&ELQ Mg AN T2 ) 12,000
SENZA SIME AFMAIE(Z2D) 400,000 325,000 75,000
hag 400,000
403 XtXISHH S K201 400,000 325,000 75,000
rag 400,000
01 MHXHNMAHEE = 400,000 325,000 75,000
SEHEN SAIME ARMAIY 400,000
fag 400,000
SHES HFAID O MEF(=1) 60,000 0 60,000
hag 60,000
308 AXISHXMSOIH 60,000 0 60,000
fag 60,000
01 AXHNBMNEXTZ 60,000 0 60,000
OsgES CHMAFD 0l MES 60,000
hag 60,000
SENFAEE AS5F 2,998,700 1,668,500 1,330,200
fag 2,115,000
& 883,700
=JHE JIZ2HE OHHE DX (20)(2E) 130,000 195,000 A 65,000
fag 65,000
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201 et A | 104,000 87,000 17,000
fag 52,000
= 52,000
01 AR 22l ] 22,000 17,000 5,000
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hag 11,000
= 11,000
03 A2 E H| 82,000 70,000 12,000
OsJI" JIsHE OHAHE Jl=X& 82,000
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202 04 d| 13,000 13,000 0
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01 2L Y| 13,000 13,000 0
O=sJIE JI2ME 0HAHE JIsXd =8 13,000
hag 6,500
= 6,500
206 M = Hl 8,000 15,000 A7,000
nag 4,000
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01 =8l 8,000 15,000 AT7,000
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s 4,000
< 4,000

301 L2 A Z 5,000 15,000 A 10,000
s 2,500
= 2,500

09 &ALAHI B &= 5,000 15,000 210,000
O=Jtg JI3HE O0AHE JI=X& 5,000
= 2,500
< 2,500
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OANMEMNERA 130,000
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403 Mt S EX201 & 75,000 125,000 A 50,000
s 75,000
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O=sgeol A2 &2 J=X& 75,000
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SEXNFEE ME ANE(=22) 10,000 50,000 A 40,000
s 10,000

403 AXISHM S X201 A 10,000 50,000 240,000
s 10,000

01 XXM A2E = 10,000 50,000 A 40,000
OAHANMN HLFA T2 2Y 10,000
s 10,000

sEMgas g4 199,500 84,500 115,000

201 L2l 27,000 27,000 0

01 At 22l 27,000 27,000 0
OxRsY 29 S 27,000

202 04l 1,500 1,500 0

01 = LHA YI 1,500 1,500 0
OXISHME At EEHII=X& 1,500

206 M= Hl 2,000 2,000 0
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09 HALAHIEA S 4,000 4,000 0
ous FAX =24 S 4,000
403 A X EHHSH=0IA 165,000 50,000 115,000
01 XM A= E L 165,000 50,000 115,000
O=sEXd 88 IrsyY =4 165,000
23 HE3SA &4Hs A 139,200 59,000 80,200
201 LB-2E| 60,000 50,000 10,000
01 At 2t 2l 50,000 50,000 0
ONZE 2Z &, SESA <= 50,000
03 &AL Z I 10,000 0 10,000
OHE=S4A L SFESA sEHA 10,000
202 Od4dl 5,000 5,000 0
01 =2 LHO YI 5,000 5,000 0
OXN=EE ALE dHII=XE 5,000
206 2 I 3,000 3,000 0
01 T2l 3,000 3,000 0
O2d HESA AME 3,000
301 L2 A3 1,000 1,000 0
09 EALEHIE &S 1,000 1,000 0
OFEAI ABI24 S 1,000
308 XXM SO0 A 63,000 0 63,000
01 IXNHHBHNEES 63,000 0 63,000
Z2EUEY =0 XA 63,000
403 XIS E X201 & 7,200 0 7,200
01 X SHHAN2E= 7,200 0 7,200
oHEsAs 28 243 XA 7,200
HEARS Hsgs XA (2D) 25,000 25,000 0
s 25,000
308 MtXIEHMSOIH 25,000 25,000 0
s 25,000
01 AXSHBLELS 25,000 25,000 0
OdEAZs Hsgs XA 25,000
ras 25,000
sH&2 B3Il EES NA(=1) 60,000 80,000 A 20,000
s 60,000
308 XXM SO0 A 60,000 80,000 A 20,000
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e 60,000

01 IXNHHBNEES 60,000 80,000 A 20,000
O=4E IH3Jl& E&ES K& 60,000
s 60,000

g2 SR UF 480,000 0 480,000

201 Let24d]| 30,000 0 30,000

01 At 22l 30,000 0 30,000
O8N 2¢ = 30,000

202 Odl 5,000 0 5,000

01 =S LHAYI 5,000 0 5,000
OYSSALHDE YREX 5,000

307 glz2t0l & 445,000 0 445,000

02 QIZtE M AHEE 150,000 0 150,000
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OsHESEE 18 I8 A 295,000
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s 100,000
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403 MtXISHE X201 & 750,000 0 750,000
as 750,000

01 AXSHMA=2EER 750,000 0 750,000
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s 750,000
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< 83,024

SIS SHA NERE NA(=1) 10,500 7,000 3,500
= 10,500

308 XXIEHH SOl A 10,500 7,000 3,500
= 10,500

01 X HHBLEXS 10,500 7,000 3,500
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= 10,500

R A 08 ASIHS J=zUs(212)(HE) 20,000 20,000 0
= 10,000
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101 @124 dl 981,274 921,282 59,992
03 RIAHAZZ2 B+ 981,274 921,282 59,992
023 (ANGARA) 603,897
o= 603,897
o=¢ 363,577
OFSE=El=y 27,947
OAzte 2224 95,005
Ogrest=rY 31,669
OZFEFOtHI 49,843
O=Aldl 35,880
Oul SH| 22,080
OPIE=Ea=s 13,200
—bi < Xt 5,280
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OJI2s(84EExH) 30,203
o= 30,203
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= 1,605
OP == 960
-t < Xt 480
= 79
< 401
-2 YIS 480
= 79
= 401
OgERYES & 6,533
= 1,072
< 5,461
O=otl 1,235
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S ET-BIEE
HE: HN2YFH (SYIIed)

el JI=23Hl

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 17,625 15,926 1,699
01 At 22l 17,625 15,926 1,699

OFN2Y AR 22l 17,625
202 oddl 9,000 8,400 600
01 = LH o4 1l 9,000 8,400 600

FA2E =WHHH 9,000

2A2Y J=2ZH(8ds2e7n) 21,618 21,078 540
201 Let24dy] 14,418 13,878 540
01 At 22l 14,418 13,878 540

ORA2Y AtR2eltl 14,418
202 O4dl 7,200 7,200 0
01 = LH 4 bl 7,200 7,200 0
ORN2Z =U0tl 7,200

AN JI2Z (X2 I]& ) 23,287 21,078 2,209
201 L2l 15,487 13,878 1,609
01 At 22l 15,487 13,878 1,609

ORAN2Y AR 22| 15,487
202 04l 7,800 7,200 600
01 = LH o4 1l 7,800 7,200 600
ORNE2YE =2UHAHHI 7,800

FNEZ JI2ZHOIsE3D) 19,949 19,454 495
201 L2l 13,349 12,854 495
01 At 22/ 13,349 12,854 495

OFN2Y AR 22l 13,349
202 o4dl 6,600 6,600 0
01 = LH o4 1l 6,600 6,600 0
OFMEE =UOHI 6,600

PN J2Z I (ME XA D) 19,780 14,582 5,198
201 2et24d] 12,280 9,782 2,498
01 At 22l 12,280 9,782 2,498

ORA2Y AtR2ell 12,280
202 O4dl 6,000 4,800 1,200
01 =S LHAYI 6,000 4,800 1,200
FN2E =LY 6,000
405 RH&HE S HI 1,500 0 1,500
01 AL EFSFHSHI 1,500 0 1,500
Ok= 0oz w 1,500
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